
 2270
F 06 HOMEWORK #8

1.

R1 C2 L1 ig vg vo i1 v1

zL = 12 + j15 Ω

60∠0° Vrms

12 Ω

j131 kΩ

Irms

–j11 kΩ

24 Ω

a) Calculate the value of rms current, Irms, flowing through zL.

b) Calculate the complex power, S, for zL.  Include appropriate units.
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Va'n = 82∠0° V zgY = 0.1 Ω

Vb'n = 82∠120° V zline = 39 + j5 Ω

Vc'n = 82∠–120° V zLY = 0.9 + j4 Ω

a) Draw a single-phase equivalent circuit.

b) Calculate VAB.



3.

R1 C2 L1 ig vg vo i1 v1

Linear

–j16 Ω

12 Ω j12 Ω

j48 Ω j4 Ω–j12 ΩIs = 6∠0° A

I1

–j2 Ω

a) Calculate the numerical value of phasor current I1.

R1 C2 L1 ig vg vo i1 v1

Ideal

Vs = 60∠0° V zL ⇒

b

a 5 Ω

N1 N2

b) Given N1/N2 = 9, calculate the impedance, zL, seen by the voltage source in the
above transformer circuit.


